@YAMAHA
SPM-K30

WALL MOUNT BRACKET
SUPPORT MURAL

FYFIYYY RTIOV T I y—ERITRE

Installation Manual

Manuel d’installation
Installationsanleitung
Instllationsanvisningar
Manuale d’installazione
Manual de instalacion
Installatiehandleiding
PykoBoACTBO MO yCTaHOBKE
TaRILAP

x| MEA

BTEHEAE




DIMENSIONS AFMETINGEN

DIMENSIONS FABAPUTDI
ABMESSUNGEN BNEBIEIR

MATTSKISSER 37|

DIMENSIONI BEbD~TiE

DIMENSIONES

Large wall mount bracket Grote wandbevestigingsbeugel

Grand support mural BosbLIOH KPOHLUTENH HACTEHHOIO KperJseHus
GroBe Wandhalterung EEHER (K)

Stort vdggmonteringsféste Oy # o2E =23l

Staffa di installazione a muro grande BT RE (k)

Soporte de montaje en pared grande

H YSP-800/YSP-900

305
282.5 305 1.4kg
252.5 282.5
2225 252.5
192.5 2225
162.5 192.5
132.5 162.5
102.5 132.5
85 725 102.5 85
(’J*
tﬁ- 1====7 rFre =977 e e e =" 7" -r-r--~T--=-=-- 1)
-1 <>CDCDCDCDECDCDC: [e=Y==Y==N==Y==Y==Y==X")
&
&

YSP-800/ 162.5 308
YSP-900 825 >
305
———% o4  ——— 1] [T 5
L 630 ] (mm)
W YSP-3000/YSP-30D/YSP-3050/HTY-7030
325 ‘
302.5
272.5 1 325 1.4kg
2425 302.5
2125 272.5
182.5 2425
152.5 2125
122.5 182.5
925 152.5
62.5 122.5 65
S T ) O I N A J R P A N B
[N enm Neum ¥ anm Nenm { cumn N N anmn N anm N cnn ) [ N N e J{ e N enm Nenm Nenm N0 ,
© P 198.6 198.6 5 @ 1
Eg’”is-dﬂo ‘ ngﬁa 83
S oe ‘ ool |2 :
( \ 1 Q B
Ay,
24-¢7x22 92.5 122.5 4-¢7
1225 | 152.5
152.5 \ 182.5
182.5 T 325
302.5
325
( CHE=)a! f ) o] 1 f S O ] (mm)




M YSP-4000/YSP-40D/HTY-7040/YSP-4100/YSP-5100

355
3325 1.4kg
302.5 355
272.5 332.5
242.5 302.5
212.5 272.5
182.5 242.5
152.5 212.5
® 122.5 182.5 ®
92.5 152.5 j
3 .
i ) DD DODDDD ODODDODDDo !
i ° P 228.6 2286 @ :
: B 2% ser O sar(Ofle B o !
: S e o = !
i o &P f 1 1 Q |
- !
-—— |- 24-p 7x22
SN Y/ [ B I O S I )
122.5 152.5
SPM-K30 152.5 182.5
YSP-4000/ 182.5 212.5 (mm)
YSP-40D/ 212.5 355
HTY-7040/ 312.5
YSP-4100/ 355
YSP-5100
——S on4 [ (- ) | [—O o
I 730 |
YSP-4000/YSP-40D/
HTY-7040 YSP-4100 YSP-5100
® 150 150 235
22 26 26
© 63 74 74 (mm)
Small wall mount bracket Kleine wandbevestigingsbeugel
Petit support mural Marible KpOHLITeHbI HACTEHHOro KperieHna
Kleine Wandhalterung HEEFER ()
Litet viggmonteringsfaste 28 Y 0I2E =3l
Staffa di installazione a muro piccola ERIFEE (V)
Soporte de montaje en pared pequeno
HA HB
78 0.1kg x 2 68 0.1kg x 2
g O\l 2-$4.5 L r 7
! ' 22 26 ! . ! : !
i e | o | i
| \ 0] ! @ | |
| e8| Ef 1s8 | |
| 2-4.5%6.5 | 2-94.5%6.5
|ﬂ o—d
16.9
M6TAP 16.9
q P (mm) (mm)




Unit with bracket

Le systeme avec son support
Einheit mit Halterung
Ljudprojektorn med féstet
Unita con staffa

Unidad con ménsula

W YSP-800/YSP-900

Toestel met de beugel
Annapar ¢ KPOHLITEAHOM
BIER R

Bai3io] A= 7171

EXfFBF DTk

M YSP-3000/YSP-30D/YSP-3050/HTY-7030

(mm)

171

(mm)

B YSP-4000/YSP-40D/HTY-7040

M YSP-4100

—

23

167

(mm)

(mm)

B YSP-5100

(mm)




WALL MOUNT BRACKET

SPM-K30

Installation Manual

Thank you very much for purchasing the Wall Mount Bracket SPM-K30. Be sure to read this manual thoroughly before
using this bracket. After you have read this manual, retain it for future reference.

When installing the Digital Sound Projector using this bracket, all installation work must be
performed by a qualified contractor or dealer personnel. The customer must never attempt to

perform this installation work. Improper or inadequate installation could cause the Digital Sound
Projector to fall, resulting in personal injury.

SAFETY INSTRUCTIONS

¢ Always follow the instructions set forth in this manual when installing the Digital Sound Projector
using this bracket.
Improper or inadequate installation could cause the Digital Sound Projector to fall, resulting in personal injury.

¢ The installation must be secure enough to bear the weight of the Digital Sound Projector, the wall
bracket and other hardware indefinitely, and must also be secure enough to withstand vibrations.
Improper or inadequate installation could cause the Digital Sound Projector to fall, resulting in personal injury.

* To ensure safety, all screws must be tightened securely.
Loose screws could cause the Digital Sound Projector to fall, resulting in personal injury.

¢ Make sure to leave adequate ventilation space around the unit to allow heat generated by the Digital
Sound Projector to dissipate.
Failure to provide adequate space around the unit could cause the Digital Sound Projector to overheat internally,
resulting in a fire.

* Never hang from the Digital Sound Projector or the wall bracket.
Hanging from the Digital Sound Projector or the wall bracket could cause the Digital Sound Projector or the wall
bracket to fall, resulting in personal injury.

¢ Once the Digital Sound Projector is installed, safety checks should be conducted on a regular
basis.
If the Digital Sound Projector is used over an extended period of time, screws can become loose and the installation
can become weaker due to the passage of time, vibrations, etc.

En 1



ACCESSORIES

Check that all of the following parts are included.

Large wall mount bracket (LEFT) (x1) Large wall mount bracket (RIGHT) (x1)

Small wall mount brackets Small wall mount brackets Safety wires (x2)
(Type A) (x2) (Type B) (x2)

oc0O

it
& Length 300 mm
)
000

Projector mounting screws Projector mounting screws Washers (for M6, 16 mm of
(M6, 16 mm) (x6) (M4, 10 mm) (x10) outer circumference) (x4)

& &

=

Note

Prepare at least six sets of commercially available tapping screws (¥4 mm, 25 mm or more in length)
and washers in addition to the accessories shown above.

En 2



ASSEMBLING PROCEDURE

The dimensions after assembling the parts vary depending on the type of the Digital Sound Projector. Check the positions
of the screw holes before assembling the parts.

YSP-800, YSP-900

Projector mounting
screws (M4)

§/ (supplied)

630 mm

YSP-3000, YSP-30D, YSP-3050, HTY-7030

Projector mounting
screws (M4)

= / (supplied)

670 mm

En 3




ASSEMBLING PROCEDURE

YSP-4000, YSP-40D, HTY-7040, YSP-4100, YSP-5100

Projector mounting
screws (M4)

730 mm

En 4



INSTALLATION PROCEDURE

Make sure to leave adequate ventilation space around the unit and follow the instructions below. The illustrations used in
each step are the examples of YSP-800 and YSP-900.

1 Attach the large wall mount bracket to the wall.

In order to secure the unit to the wall, you will need to attach the bracket to the wall first in a manner befitting the
structure and quality of the wall.

Choose a location where the wall can bear the weight of the whole unit.

Before installing the bracket, make sure of the size (see “DIMENSIONS” on the first page of this manual).

4 mm Tapping Screw (commercially available)

In order to secure the unit to the wall, drive six (or more) tapping
screws from the outside through the holes in the wall mount bracket.

Installation example

o0
Washer
(commercially
available)
Installing into a dry ~ Installing directly ol
wall into a wall, etc.

25 mm or more 25 mm or more

Z

e

| Beam, etc. Dry wall

Note

Choose a secure wall or beam to fasten the screws. Do not install them into walls made of weak
material that can easily come off, such as mortar or plywood wall panels. Loose screws could cause
the projector to fall, resulting in personal injury.

2 Detach the metal apparatuses from the Digital Sound
Projector. (Some models of YSP-800 only)

If the metal apparatuses are attached to the rear panel of your Digital Sound Projector, detach them from the rear left and
right sides. If the metal apparatuses are not attached to the rear panel of your Digital Sound Projector, proceed to step 3.

N

7

—\/ \[

® o iom L ® o

Metal Metal

apparatus apparatus
'I ° o 7] LK

En5



INSTALLATION PROCEDURE

3 Attach the small wall mount brackets to the Digital Sound
Projector.

The small wall mount brackets vary depending on the type of the Digital Sound Projector. Refer to the following table for
details on the type of the Digital Sound Projector and the compatible small wall mound brackets (Type A or B).

Use supplied projector mounting screws (M6 x 4 for YSP-4000, YSP-40D, HTY-7040, YSP-4100 or YSP-5100 and M4
x 8 for other models) to securely attach the two small wall mount brackets to the rear left and right sides of the Digital

Sound Projector.
B YSP-4000/YSP-40D/HTY-7040/YSP-4100/YSP-5100

Digital Sound Small wall Rear View
Projector mount bracket Digital Sound Projector

YSP-800

YSP-900 Type A

YSP-3000
YSP-30D Projector mounting

YSP-3050 screws (M6)
HTY-7030 (supplied)

YSP-4000 Type B \
YSP-40D \
HTY-7040

YSP-4100 Small wall mount bracket
YSP-5100 (Type B)

Attach the brackets to the rear left and
right sides of the Digital Sound Projector.

B YSP-3000/YSP-30D/HTY-7030/ B YSP-800/YSP-900
YSP-3050
Rear View Rear View
Digital Sound Projector Digital Sound Projector
o /74—7_,

o

Projector mounting
screws (M4)
(supplied)

Projector mounting
screws (M4)
(supplied)

F

Small wall mount bracket

\(Type A)

Small wall mount bracket
(Type B)

Notes

¢ In the unit of the model that the metal apparatuses are not attached, there are felt covers in the
holes. In this case, tighten the screws to puncture the felt covers.
¢ If you tighten the screws on the slant, the screw threads in the projector might be broken.

Be careful when using electric tools.

En 6



INSTALLATION PROCEDURE

4 Attach the safety wire.

Attach the safety wire to the small wall mount bracket to prevent the Digital Sound Projector from falling.
Slip one end

Safety wire X /through the loop
>/m at the other end
A 0 )—— \o/
Iml]m]l]ml g ]\ Slip the safety wire

between the bracket

& and the projector

Repeat the same
procedure for the
other bracket.

5 Mount the Digital Sound Projector on the wall.

Fit the mounting guide hooks of the small wall mount brackets attached to the Digital Sound Projector into the holes on

the left and right sides of the large wall mount bracket and then slide the unit to the right.

Fit the hook into the
hole.

L 7
right.

Note
Hold the Digital Sound Projector tight with both hands when attaching or removing the Digital Sound
Projector to or from the wall. Holding the Digital Sound Projector loosely could cause the Digital

Sound Projector to fall, resulting in personal injury.

En7



INSTALLATION PROCEDURE

6 Secure the unit.

Align the holes in the large wall mount bracket with the holes in the bottom of the small wall mount brackets, and then
use two of the supplied projector mounting screws (M6 x 16) to secure the unit. The positions of the screw holes vary
depending on the type of the Digital Sound Projector. Refer to the following illustrations and check the correct positions
of the screw holes used to secure your Digital Sound Projector.

H YSP-800/YSP-900

Digital Sound Projector ~ Bottom View

o oOOOoooo
(o]e)

Projector mounting
screws (M6) (supplied)

|

!

L
j@ﬁ

[ =]
Use the inward screw hole on each
side to secure your Digital Sound
Projector.

B YSP-3000/YSP-30D/YSP-3050/HTY-7030/
YSP-4000/YSP-40D/HTY-7040/YSP-4100/YSP-5100

Digital Sound Projector ~ Bottom View

ooo oOo0o0
O 000

Projector mounting
screws (M6) (supplied)

|

_[_

Use the outward screw hole on each
side to secure your Digital Sound
Projector.

En 8



INSTALLATION PROCEDURE

7 Attach the safety wires to the wall.

Pass the screws (commercially available) through the loops of the safety wires and then tighten the screws to secure the
safety wires to the wall.

Make sure that the screws are strong enough to bear the weight of the Digital Sound Projector and the brackets in case
they fall.

Screw
(commercially available) .
Secure the safety wire to
\ __--="7 the wall. Secure the safety wire
o= to the wall.
7Y
=8
I
Washer
(supplied)

Notes

¢ Attach the safety wires tight.
¢ Keep the 2 other washers for future use.

Limited Guarantee for European Economic Area (EEA) and Switzerland

Thank you for having chosen a Yamaha product. In the unlikely event that your Yamaha product needs guarantee service, please contact the dealer from
whom it was purchased. If you experience any difficulty, please contact Yamaha representative office in your country. You can find full details on our
website (http://www.yamaha-hifi.com/ or http://www.yamaha-uk.com/ for U.K. resident).

The product is guaranteed to be free from defects in workmanship or materials for a period of two years from the date of the original purchase. Yamaha
undertakes, subject to the conditions listed below, to have the faulty product or any part(s) repaired, or replaced at Yamaha’s discretion, without any charge
for parts or labour. Yamaha reserves the right to replace a product with that of a similar kind and/or value and condition, where a model has been
discontinued or is considered uneconomic to repair.

Conditions

1. The original invoice or sales receipt (showing date of purchase, product code and dealer’s name) MUST accompany the defective product, along with a
statement detailing the fault. In the absence of this clear proof of purchase, Yamaha reserves the right to refuse to provide free of charge service and the
product may be returned at the customer’s expense.

The product MUST have been purchased from an AUTHORISED Yamaha dealer within the European Economic Area (EEA) or Switzerland.

The product must not have been the subject of any modifications or alterations, unless authorised in writing by Yamaha.

The following are excluded from this guarantee:

Eab el

a. Periodic maintenance and repair or replacement of parts due to normal wear and tear.
b. Damage resulting from:

(1) Repairs performed by the customer himself or by an unauthorised third party.

(2) Inadequate packaging or mishandling, when the product is in transit from the customer. Please note that it is the customer’s responsibility to
ensure the product is adequately packaged when returning the product for repair.

(3) Misuse, including but not limited to (a) failure to use the product for its normal purpose or in accordance with Yamaha’s instructions on the
proper use, maintenance and storage, and (b) installation or use of the product in a manner inconsistent with the technical or safety standards in
force in the country where it is used.

(4) Accidents, lightning, water, fire, improper ventilation, battery leakage or any cause beyond Yamaha’s control.

(5) Defects of the system into which this product is incorporated and/or incompatibility with third party products.

(6) Use of a product imported into the EEA and/or Switzerland, not by Yamaha, where that product does not conform to the technical or safety
standards of the country of use and/or to the standard specification of a product sold by Yamaha in the EEA and/or Switzerland.

Where the guarantee differs between the country of purchase and the country of use of the product, the guarantee of the country of use shall apply.
Yamaha may not be held responsible for any losses or damages, whether direct, consequential or otherwise, save for the repair or replacement of the
product.

Please backup any custom settings or data, as Yamaha may not be held responsible for any alteration or loss to such settings or data.

This guarantee does not affect the consumer’s statutory rights under applicable national laws in force or the consumer’s rights against the dealer arising
from their sales/purchase contract.

o= ow

En9



Y INKRYNSAIY—ERRYNT—D
YIRS SA VT —EZRYND =D& A= R ZIDUTCTERWEL I DBD T,
H—ERXDTHEE. BREVEDE(F. BEV LIFE. FelEEmr< DY —E AR (CTEELET 0,

YR NAVEROEEPERDBEVICETHSHVSDE

B VYR —F1F&ET 21T IViRk—LR—T

BEHRNOHFEONDILHHCEBRZFEDTHOXIDT.CEE
[CUTLIEE L,

http://www.yamaha.co.jp/audio/

FEORBEWERE. FECHITIBHLSHLE
B YPIN\BEFI=Za=r—yavtry—

F—=F a7 - EY a7 IVESEREO

eeady & 0570-011-808

SEECHS COMPEENE CTRB I H T,
SR, PHS. IPESED 513 FRESICHH <IN,
TEL (053)460-3409
T430-8650 FfEEMFAHXA;REI10-1

24t B~&RH10:00~18:00 tRH10:00~17:00
(AR, MABKUEYY—EEDKRAZRL)

TINAVEROERE, Y—EZ\—YICHTH8HLEDE
B VPY/\BECHEREY—
s o4 0570-012-808

HFEHEE. PHS IPEFEDSIF FEEESICHENI<IEE L,
TEL (053)460-4830

FAX (053)463-1127

=t B~&BH9:00~18:00 tHEH9:00~17:00
(AR, |MABKIUEYY—EEDKRAZRL)

BESHLASED
24 B~&RH9:00~17:45
(LR, Bl RASKIUEYY—EEDARBZRL)

jLimiE T064-8543 #LIEM-RXR 10571 TE1-60
RS AN et
FAX (011)512-6109

BEEE T143-0006 RREBAHXFAE2THI1-1
RENSYIY—=F )L 1 45HA-5F
FAX (03)5762-2125

FHY T435-0016 JEATERRAEET200
PRA\GHNEISEA
FAX (053)462-9244

EhHE T454-0058 ZEEMH/IIXE/IE2THI-2
PRI\ REEBESF
FAX (052)652-0043

ABR  T564-0052 HAMILZET10-28
F—IREIT AV T2F
FAX (06)6330-5535

M T812-8508 BEMIFLXELEF2TE1-4
FAX (092)472-2137

* RN TP BEEE S URLIFEBR B DHBANH0ET,

€YAMAHA

©® {RELHAE
BEVLFENS 1 E/HTT.,

@ (REIFARPDIEE
REEEDTHNBICEDVWTERS BTV EEE T, FULIFRIE
BECELIZEL,

@ (RAHEHNBETTNDEE
EEIC IO TRBOEENER CEDBAICIFTELICLDERICT
EBLELET.

© (EIERIEDILHE?

eitit HEUCRMAZ ERICEET DI DHETT .
BB DAHE. S EE. AERSEERBE.
—REEEFHZFNCVET,

Bpmtt EEICHERAUIERETY . TOMEEICIFHITD
BMEESOHBEGHHOEI.

HiEREY REBDHOGINEIMEZET DHEDEATT .

Al HEREEVCE<IBEDHDFET .

© ISRt mORIEREHM
MIERRERBROREREIBIL, ST 5Y0%8F T, HIEA
TEREEBR (S, T DRBOBEEEHET TSI HICUBEBRTT .

@ HmDIRREIFEFLL
Y—ERAZECHEREESNDEE FRADREE TEDLEITFHLLBHSE
<fEEL FRRDRE BEBESHFEOHDETHHAS LS,
* & REBESFRAODEEBULFEBICKRRUCHOET .

@ AE—H—DIEE
AE—H—DEEO R AE—H— I YNNI EIRBIREBRUED
BTY. i BREFERAE—D—IZyRNREEDFI DT, T—I
JDEICLDFBDEVDHDBEDHOET

@ EFBBRDIIRICDONT
FHECIFEREREEDITHENSLT DEEBR(TLSR)HE
AENTVET . EEBROSLOETERFEAEE SRR
E(LFOTAELEBDET,

A RKLLZEUCTERV L I2hICIE ENICEFELRRZE
TRENBTEEBTIHLET .
EREBROTREINFBEN LIFE K3~/ \ B E 2R
B I— TR SV,

EERERRmR D —]
RU2—ATYNO—)b ZAvF UL—SB BRI T. 52T NI,
EYFO—S— RNV HAYR E——aEE

W

¥ CONR—=I[F BR(CTHEAVIELCHICAVRBERICOWVNTEHL T
BOFT.

KECEADRBDAIRE!

CHRIFERESDIEAD?

@ ERI—R-TSITNEBICHL.

@ 17 <EVRVHT D,

@ EFI—RTRVF AN EXHHD.

@ HRICMNDEEUEUEBIZERUD.
@ ERZANTHERITERULEL.

@ TOMDER HENHD.

¥

IRICFEAZRLEL TS,
EHRHLEDIcHERT ST 2 I 2 MDSIRE.
AT ARFEIECRIR7E SRR TE S LYo
FH IR HEEICE T BRI FARTTIE CTHERRSEE L),

BERR

- J

© 2007 YAMAHA CORPORATION All rights reserved.

REZAN Y SN
YAMAHA CORPORATION
Printed in Malaysia @ WU04920



	DIMENSIONS
	Large wall mount bracket
	Small wall mount bracket
	Unit with bracket

	English

	safety instructions
	Accessories
	ASSEMBLING procedure
	YSP-800, YSP-900
	YSP-3000, YSP-30D, YSP-3050, HTY-7030
	YSP-4000, YSP-40D, HTY-7040, YSP-4100, YSP-5100

	Installation procedure
	1 Attach the large wall mount bracket to the wall.
	2 Detach the metal apparatuses from the Digital Sound Projector. (Some models of YSP-800 only)
	3 Attach the small wall mount brackets to the Digital Sound Projector.
	4 Attach the safety wire.
	5 Mount the Digital Sound Projector on the wall.
	6 Secure the unit.
	7 Attach the safety wires to the wall.





